Choose the correct answer - 1x5=5

(@  Meiosis | results in the formation of

AL QAN (fOIeTR s word (A0 T T
(1) 2 deploid daughter- cells
(351 fawséTial wiste apra)
(1) 4 haploid daughter cells
(8B qadR wieiey (o)
(i) 2 deploid daughter cells
(01 Tawéfim wiste; (1)
(Iv) 4 deploid daughter cells
(801 fradial weie] ()

(b)  Eukaryotic cells differ from Prokauyotic cells in having

Y (PG (@0 AT AR AT TR FEEE
AT (FHT (IS ISR
(i) Chromatin reticulum (fon fBg=I)
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) Protoplasm (MY =13%)
(ni) True nucleus (9@ (RNEH)
(iv) Ribosome CIHETEIRY
A nucleic acid is a polymer of
oL Loy TE IR NS ofETE |
(1)) AmINO acid (@i’ «f5)
(i) Nucleosides (IC{@ws12%)
i) Protein (26R)
(iv) Nucleotides (IRTizw5i2T)

(@)  Paining of homalgous chromosomes takes place in :
¥4l TR (QRAG AfFAD Toa WD T

524be T ?

(i) Leptotene (&5 T6R)
(b) Zygotene (G1Z5T6x)
(iii) Pachytene (¢#1f={G)
(iv) Diplotene (f&g5)

(e) The unit membrane concept was proposed by :
TG (INE RG] (I S9612fe 7
(i) Robeutson (FEIG6-)

(i) Danielle (cel~tafe)
(iii) Singere (f6¢9<)
(iv) Nichalson (f(<1775+)

2. Answer the following questions (any five): 2x9=10
(a)  Why meiosis cell division is called reduction division?
ool g e 38 aee e & R 232

(b) What is synapsis? In what stage synapsis takes

place?
BIZEAG 6 2 (PRRSISE (0 T PG A0S
%3 7

2

()  Write abouyt

(d)  What are : g

()  What is viroig? Writ

€ a note on viraied
©IBARG fiy sl
RARE [ SESeR Ry @51 G fai=it |

(g)  Write about the functions of Galgi Apparatus.

TES g TRPIZ fay
Answer the following Questions (any five): 5x5=25
@ﬂqu'ﬁmg(ﬁ@‘.ﬁ W)
(@) ;Xplain the meitotic cell division with suitable diagram.
". ‘?“3‘ >R STy g FEfTeeH 309 F |
(b)  Distinguish between Prokauyotic and Eurkauyotic
cells.
SNSRI G R e — ALFHAZ,
=1ty
(c) D‘escribe about the ‘Watson and Crick’ model of DNA
f& 9 3 3T o fp TEH! 2t =
(@)  Write about the

structure of Nucleus with necessary
diagram.

ToRE BT s R siom 2 4
(e)  What are the passive transport?

A o g AR wre e &
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g  Write @ noté on Meirotypy)s.
0 HEAT €S by (e oy
(h) Explain briefly about the replication of DNA.

10)(1:10

(a)  Define Plasma membrane. Describe about the

structure and functions of Plasmam membrane. Give
necessary diagram. 2+4+4

(PRI R 1| i oo s S Soige
foaa HeFre Il ) '

(b)  Describe the structure and functions of Endoplasmic

reticulum. 545

ST GifeT) q 515+ SIS I 3 41|
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ZOOLOGY
 Paper : ZOOMAJ2024 '

( Principles of Ecology and
Animal Behaviour)

Full Marks : 50
Pass Mark;s : 20

- Time : Two hours

The figures in the margin indicate
full marks for the questions.

1. Choose the correct answer : 1X5=3

(@) The transition zone between two biome
is known as

(i) ecocline
i) niche

(i1i) ecotone
(1v) ecbtype .
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is considered as the founder of 2.  Answer the following questions : (any five)

(&) rm’l cthology. | ! W | | 2x5=10
(1) wonrad Lokenz ' (@) Distinguish between autecology and
py [van Pavlovﬁ _ syrfecology, ‘ _

(111 Karl von Frisch | - (b) Write on Leibig’s 1aw of minimum.
i) Alexander von Humboldt | (¢} What is stimulus filtering ?
Animals that can tolerate very large ;' (d) Write in short about detritous food

(c/ e ' ni _
VarlatIOI]S 111 Sallnlt_)f are called Chaln.

i) gtenohaline
(i7) gtenothermal
/i73) Euryhaline
i) Eurythermal
, In aquatic habitat, organisms living in {
the bottoin sediments are known as____ | |

(e} Define bheromone with example.

() Distinguish between natality and
" mortality. 1 ‘

: -L.-I—-"HH‘:_-II.——_‘._ e i v e

(@9 What is ‘circadian rhythm’? Explain
... with example. '

fauna. v | 3. ‘Answer the following questions : (any five)
i, penthos . ;' Soleve LT 5%x5=25
(i7) nekton | 5 (@) - Distinguish between r-selected and
i7) zooplankton . e + K-selected species with example.
1e most important property of an i 7 .dependent factors in regulating
ranised society is T . population. '
aggregation i ~(c) Write a note on different types of
association it ~ecological pyramids with example.
division ‘of labour (d) Explain dance language of honeybee
riche sharing , . i and its significance. 4+1=5
5 . 172/FY (Sem-3) 3 Contd.




(a) Explain energy flow in an ecosystem
~ with reference to the law of
thermodynamics and Y-shaped energy
flow model. 7+3=10

(b)
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The figures in the margin indicate
full marks for the questions.

1. Choose the correct answher': :L 1 X5=5

a) Ribose and deoxyribose differ in
. structure around a single carbon

namely
) C,
i) C,
) C,
w) C,
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H)

The lipid that functions as food reserve

in animals 18

i/  Phospolipid
q)  Trygl yceride
) Glycogen

jv) Estrogen

¢) Which of the following is not the
structural component of biological

membrane ?

)
11)

Fatty acid

Sphingolipid

i17) Sterols

V)

Phospholipid

d) Repsid is an example for the class of
enzymes namely ired 1

)
1)
11

)

Y (Sem-3)/BL

Oxidoreductases

Transferases
Hydrolases

Ligases

C
ne ,
| 1S -Constry gy, doé ;uclmc acid structure
i) Peptide bondg

3. Answer the following : (any five) 5x5=25

a) Write short notes on 'glycosidic bond
and peptide bond.
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b) Give & brief account on the types and
functions of different types of RNA.

) Distinguish between purine and
pyrimidine.

d) Give a brief account on the conjugated
proteins.

e) Write on biological significance of lipids.

f)  Give a brief account on the significance
of at least three important
carbohydrates.

g) Discuss briefly on Fischer’s lock and
key model explaining mechanism of
enzyme action.

h) Discuss on the structure of DNA as
Watson and Crick model.

4. Answer any one of the following :
' ' 10x1=10

a) Discuss on the factors affecting enzyme
actions. '

b) Discuss on important saturated and

};nsaturated fatty acids of biological
Importance. - *
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